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Annual Online Examination 2020

B.Com. Part - II

GROUP (II) ACCOUNTING

Paper - I

COST ACCOUNTING
Max.Marks : 75
Min.Marks : 25

Vhi %Vhi %Vhi %Vhi %Vhi % [k.M ̂v* esa nl vfry?kwŸkjh iz'u gSa] ftUgsa gy djuk vfuok;Z gSA [k.M ̂ c* esa
y?kwŸkjh ç'u ,oa [k.M ̂l* esa nh?kZ mŸkjh ç'u gSaA [k.M ̂v* dks lcls igys gy
djsaA

Note : Section 'A', containing 10 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A' has to be solved first.

Section - 'A'

fuEukafdr vfry?kwŸkjh ç'uks a ds mŸkj ,d ;k nks okD;ks a es a ns aAfuEukafdr vfry?kwŸkjh ç'uks a ds mŸkj ,d ;k nks okD;ks a es a ns aAfuEukafdr vfry?kwŸkjh ç'uks a ds mŸkj ,d ;k nks okD;ks a es a ns aAfuEukafdr vfry?kwŸkjh ç'uks a ds mŸkj ,d ;k nks okD;ks a es a ns aAfuEukafdr vfry?kwŸkjh ç'uks a ds mŸkj ,d ;k nks okD;ks a es a ns aA
Answer the following very short-answer-type questions in one or two
sentences.     (1x10=10)

ç'u 1- nh bULVhV~;wV vkWQ dkWLV ,.M oDlZ ,dkm.Vs.Vl~ vkWQ bf.M;k dk iz/kku
dk;kZy; dgk¡ fLFkr gS\
Where is the head office of the Institute of  Cost and Works Accountants
situated?

ç'u 2- fcu i=d dks fdl vU; i=d ds uke ls Hkh tkuk tkrk gS\
Bin-card is also known by which name?

ç'u 3- jgfr;k ds ewY;kadu gsrq ys[kkadu esa fdl fof/k dk iz;ksx gksrk gS\
Which method of inventory valuation is most widely used in accounting?

ç'u 4- fLFkj O;; fdls dgk tkrk gS\
What are standing expenses?

(8)

x.kuk dhft, %

Calculate :

(i) ykHk ek=k vuqikr P/V Ratio

(ii) lefoPNsn fcanq  B.E.P.

(iii) 20000 :- dk ykHk vftZr djus ds fy, fcØh
Sales required to earn a profit of Rs. 20000

(iv) 4]40]000 :- dh vuqekfur fcØh ij ykHk
Profit at an estimated sales of Rs. 4,40,000

(iv) 8]00]000 :- dh fcØh ij lqj{kk lhek
Margin of safety when sales are Rs. 8,00,000

---x---



(2) (7)

ç'u 5- ;fn ykxr =18000 :-] ykxr ij ykHk dk izfr'kr 
1

33
3
 gks rks ykHk dh

jkf'k D;k gksxh\

If cost = Rs.18000, percentage of profit on cost  
1

33
3

, then what will be

the profit?

ç'u 6- viw.kZ Bsds ij gkfu dks fdl [kkrs esa varfjr fd;k tkrk gS\

Loss on incomplete contract is transferred to which account?

ç'u 7- X izfØ;k dk lkekU; mRiknu 1000 bdkb;ka gS ,oa vlkekU; {k; 20
bdkb;ka gS rks izfØ;k dk okLrfod mRiknu D;k gksxk\

If normal output X process is 1000 units and abnormal wastage is 20 units,
then what is the actual output of the process?

ç'u 8- ;fn ykxr ys[kksa ds vuqlkj ykHk 12000:- gks ,oa dkj[kkuk mifjO;; dh
vf/kd olwy dh xbZ jkf'k 3000 :- gks rks foŸkh; iqLrdksa dk ykHk fdruk
:- gksxk\

If profit as per cost accounts is Rs. 12000 and the amount of office overhead
over recorded is Rs. 3000, then what will be the profit as per financial
books.

ç'u 9- ^ifjpkyu ykxr* dks ifjHkkf"kr dhft;sA

Define 'Operating Cost.'

ç'u 10-okLrfod foØ; rFkk lefoPNsn foØ; ds varj dks D;k dgrs gSa\

What is the difference between actual sale and break even sale called as?

Section - 'B'

fuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsafuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsafuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsafuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsafuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsa
Answer the following short-answer-type questions with word
limit 150-200                                                                                               (5x5=25)

ç'u 1- ykxr ys[kkadu ls vki D;k le>rs gSa\
What do you mean by Cost Accounting?

P.T.O.

OR

dk;Zghu le; ls vki D;k le>rs gSa\ lkekU; o vlkekU; dk;Zghu le;
esa varj Li"V dhft,A buesa ls izR;sd dk ykxr ys[kksa esa vki fdl izdkj
ys[kk djsaxsA

What do you understand by Idel time? Distinguish  between normal and
obnormal idle time. How would you deal with each of them in cost accounts?

ç'u 3- Bsdk [kkrk D;k gS\ bls rS;kj djrs le; fdu&fdu ckrksa dks /;ku esa j[kuk
pkfg,\

What is Contract Account? What important points should be kept in mind
while preparing it?

OR

ykxr i= D;k gS\ blds ykHk D;k gSa\ dkYifud vadksa ds vk/kkj ij ,d
oL= fuekZ.k m|ksx ds ykxr i= dk lgh izk:i rS;kj dhft,A

What is cost sheet? what are its advantages? Prepare a cost sheet of a
cloth manufacturer in proper form with imaginary figures.

ç'u 4- lkekU; {k;] vlkekU; {k; ,oa vlkekU; cpr dks le>kb,A izfØ;k ykxr
ys[kksa esa budk ys[kk fdl izdkj fd;k tkrk gS\

Explain Normal Wastage, Abnormal Wastage and Abnormal Effectiveness.
How should these be dealt in process Cost Accounts?

OR

ifjpkyd ykxr^̂ fof/k ls D;k vfHkizk; gS\ ;g fdu fdu m|ksxksa esa viukbZ tkrh gS\

What is meant by " Operating costing"? In which industries is it used?

ç'u 5- ykxr ykHk rFkk foŸkh; ykHk ds chp vUrj ds dkj.kksa dk o.kZu dhft,A

Explain reasons for difference between cost profit and financial profit.

OR

fuEufyf[kr lead ,d y?kqfuekZ.kh daiuh ls lacaf/kr gS%

The following data is related to a small manufacturing Company :

fuf'pr ykxr       Fixed Cost 160000

ifjorZuh; ykxr     Variable Cost 60% of sales



(3)(6)

P.T.O.

OR
;fn dPps eky dk U;wure LVkd Lrj rFkk vkSlr LVkd Lrj Øe'k% 8000
,oa 18000 bdkb;k¡ gSa rks bldh iqu% vkns'k ek=k Kkr dhft,A
If the minimum stock level and average stock level of raw materials are
8000 and 18000 units respectively, find out its re-order quantity.

ç'u 2- Je ykxr ds la?kVd D;k gSa\
What are the components of Labour Cost?

OR
fuEufyf[kr lwpuk ls ,d vkjk fey ds fy, e'khu ?kaVk nj fudkfy,%
From the following information work out the machine hour  rate of a saw mill :

 :- :- :- :- :-

(i) vkjk e'khu dk Ø; ewY; 90000

Purchase of the saw machine

(ii) jsYos HkkM+k o  <qykbZ  6000

Railway freight and carriage

(iii) e'khu dk thou izfr o"kZ 2000 dk;Z'khy ?kaVksa ds vk/kkj ij 10 o"kZ

 Life of machine 10 yrs. at 2000 working hour per year.

(iv) ejEer O;; gkzl dk 50%

Repair charges 50%  of depreciation

(v) fo|qr 'kfDr dk miHkksx-izfr ?kaVs 10 bdkbZ@  2 : izfr bdkbZ

Consumption of electric power - 10 units per hour @ Rs. 2 per unit.

(vi) fpdukbZ rsy 8 ?kaVs ds izfrfnu ds fy, 4 :

Lubricating oil @ Rs. 4 per day of 8 hours.

(vii) mi;ksX; LVkslZ 8 ?kaVs ds izfrfnu ds fy, 20 :

Consumable stores @ Rs. 20 per day of 8 hours.

(viii)  e'khu lapkyd dh etnwjh 8 ?kaVs ds izfrfnu ds fy, 40 :

           Wages of machine operator @Rs. 40 per day of  8 hours.

(ix) e'khu dk LFkkiuk O;; 4000 :

Machine Installation Charges.

Section - 'C'

fuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsafuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsafuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsafuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsafuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsa
Answer the following long-answer-type questions with word
limit 300-350                                                                              (8x5=40)

ç'u 1- mifjo;; dh ifjHkk"kk nhft, rFkk mudk oxhZdj.k crkb,A

Define overheads and give their classification.

OR

fuEufyf[kr esa ̂ ckn esa vkuk] igys tkuk^ i)fr }kjk fuxZfer 'X' lkexzh dk
LVksj ystj [kkrk fn[kkb,A

Show the 'Store Ledger Account ' of  'X' material issued on LIFO method
from the following ;

                Receipts          Issues

Date                  kg        Rate per Kg          Date  kg

July(Balance)200 5.00 July 6 150

July 15 100 5.25 July 30 100

Aug 8 400 5.50 Aug 10 200

Sep 10 200 6.00 Aug 30 100
Sept 30 250

15 tqykbZ dks Ø; dh x;h 5 fd- xzk- lkexzh nks"kiw.kZ ik;h xbZ o 2 vxLr
dks foØsrk dks okil dj nh x;h A fuxZfer lkexzh ds de rkSyu ds dkj.k
30 flarcj dks tkap djus ij 2 fd- xzk- lkexzh vf/kd ik;h x;hA

5 kg material purchased on 15 July was found to be defective and returned
to vendors on 2 August, 2 kg were found to be surplus on checking on 30th

September due to short weighing of material issued.

ç'u 2- dk;Zghu le; D;k gS rFkk ifjO;; ys[kksa esa bldk ys[kk fdl izdkj fd;k
tkuk pkfg,\

What is idle time and how should it be treated in Cost Accounts?



(5)(4)
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ç'u 3- fuEufyf[kr vkadM+ksa ls iz;qDr lkexzh ds ewY; dk fu/kkZj.k dhft,%

From the following data determine value of raw materials consumed :

:i;s :i;s :i;s :i;s :i;s Rs.

lkexzh dk izkjafHkd jgfr;k
Opening stock of raw materials     5000

lkexzh dk vfUre jgfr;k
Closing stock of raw materials  10,000

lkexzh dk Ø;
Purchase of raw materials  60,000

lkexzh ds Ø; ij HkkM+k
Freight on purchase of materials       500

Ø; ij pqaxh dj pqdk;k
Paid octroi duty on purchase       100

csph xbZ lkexzh dh ykxr
Cost of materials sold    2,000

O;FkZ lkexzh dh fcØh

Sale of waste materials    2,400

lkexzh ij izR;{k O;;
Direct expenses on materials    1,000

lkexzh dh vlkekU; {kfr

Abnormal wastage of materials       200

OR

31 ekpZ 2016 dks lekIr gksus okys o"kZ ds fy, vfer ,aM da- fy- ds ys[ks
fuEu lwpuk nsrs gSa :-

The account of Amit & Co. Ltd. for the year ending 31 March 2016
shows the following :-

  :i;s :i;s :i;s :i;s :i;s  Rs.

lkexzh Material  60,000

Je  Labour  80,000

vlkekU; O;FkZ le;  Abnormal Idle time    5000

vU; vizzR;{k O;; Other Chargeble Expenses    4000

dkj[kkuk mifjO;; Factory Overhead  15,000

dk;kZy; mifjO;; Office Overhead  10,000

fcØh ,oa forj.k O;; Selling and distribution Expenses 5000

vk;dj  Income Tax            7500

/ku dj  Wealth Tax            2500

nku  Donation            4000

lafnX/k _.kksa ds fy, vk;kstu

Provision for Doubtful Debts 2500

eq[; mifjO;;] dkj[kkuk ykxr] mRiknu ykxr o csps x, eky dh ykxr
fn[kkrs gq, ,d fooj.k i= cukb,A
Prepare a statement showing Prime cost, Work cost, Cost of production
and Cost of Goods sold.

ç'u 4- ifjpkyu ykxr fof/k fdu lsokvksa o O;olk;ksa ij ykxw gksrh gS\ le>kb;sA

To what services and businesses are operating costing method applied?
Explain.

OR

YkkWx cqd D;k gS\ nSfud ykWx cqd dk uewuk nhft,A

What is log book? Give the specimen of daily log book.

ç'u 5- le&foPNsn fo'ys"k.k dh lhek,a le>kb,A

Explain the limitations of Break -even Analysis.

OR

lefoPNsn fcanq dh :i;ksa esa x.kuk dhft, %

Calculate Break-even point in rupees:

  I yr   II yr

foØ; Sales 80,000 90,000

ykHk Profit 10,000 14,000


